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30197622 pmup A4 dnpduinh /21*29.7/ Ul wnnith 2000 170 340000
30197234 POpwywmbmy Ynow Yuqung Uu huin 1100 40 44000
30234630 $1lip hhonnnipjuh 8GB Uu huin 4500 4 18000
39263200 qpwiu, ghpp.duwnjuh 70-200 ko nnnubh Ul hwn 600 10 6000
30197232 prRpuwwbwl, wpuquljup poew Ul hun 100 45 4500
30197231 prputwlwl , wnjhikpuhl pungubp wbuyg UG huwn 1500 35 52500
122811170 Yupsnih plipphljikp bonudbkph hwdwp Ul hwwn 400 50 20000
39263520 ubnuly ,Uhohh ) Uu huwn 400 20 8000
22811140 bpnudliiph wkinp Uus hwwn 750 20 15000
30197320 Yuphs/thnpp/ Ul huwn 2000 3 6000
30197320 buiphs Afks/ UL hwwn 2500 5 12500
30197111 Juphsh Ubnwnujupk Yuwbp thnpp U huin 150 20 3000
30197112 Juiphsh dbwnunujwnk jugbp Uhohl Uu hun 200 20 4000
30192121 qnps ginhludnp Gupdhp,ul, Yuiuniju/ Ul hwwn 100 200 20000
39263100 qpruubnuith hwjupwén UU. hunn 3000 3 9000
30140000 hwpdhs U hwpduywhwljmi Ulipkluuikp Ul huwwn 2000 4 8000
30192125 twnlkp/gdwthy 4qnuty Ul huin 600 20 12000
24911400 unuhbid )88 huin 200 21 4200
30192230 uljny tplnnuwih unubidwd Ahnpp/ UG hun 200 5 1000
30197000 rununpuibynip /ouphh/ UU hunn 200 20 4000
30199237 tudwlh dpup A5 dhwswithh nuhn juhnypm]|  UU hunn 40 50 2000
30199232 spwn UkS A4 dwswthh Ul hunn 60 70 4200
30192114 pwbwp , Yuhph pupdhlh hunlup UU, huin 350 3 1050
30192137 Uwwnhun nlinhlim] 916 hunn 100 10 1000
YELgwnwjhl Gjnipbp

39831242 (wéph thnzh gbepny [wibwgnt hwdwn Ul wnith 1000 10 10000
39831241 odwn ,dtinph, htnnil 9)88 hwwn 500 50 25000
39831100 Lwgnn Giniplip 808 1 750 4 3000
39831240 dwppnn Gynuphp Ul L 800 5 4000
39831280 wwwlh dwppkint theng Uu hunn 700 15 10500
24451160 pinpwlhp UU lig 400 10 4000
33761100 gnigwnwh pninp Uu huitn 150 150 22500
39522250 thnznt hwdwpdwh YuinnpGtp U huwwn 600 20 12000
39831283 hwunwyh [Jwgiwh (wpe UU, hwin 1500 15 22500
39811300 hninwgbnéhs, onh U hwwn 800 12 9600
39812410 Ywhniyph thuwy bgdwG thong Ul huin 1400 10 14000
39221420 funquiiwlGtip UU hunn 800 10 8000




44831100 dwontswhibp (fuumhlwikn) Ul wnnufy 2000 2 4000
39224331 nny) yuwuwmlinub Uu hun 1000 5 5000
39839200 gnquiphuwl] ,dnnny Uu huitn 300 5 1500
39839100 gnquphuly huuwpul )68 hwwn 2000 2 4000
39224341 wnpunln, yuundwuk Ul huwn 1000 2 2000
39836000 wili, hwuwwpul Uy, hwwn 1000 156 15000
19641000 wnihkphiEhught wupl, wyph hudwp Uu huwn 100 45 4500
39831270 uym g Uu hwwn 100 14 1400
33761400 popk whdknnghlulip Ul wnuh 350 50 17500
39221140 1nugpkp  phpe, yuppkpulpob,dudng, Ul npud
Jupswljuh vwppwynpnidikp
30237112 ulinigilwb ppnly Ul hunn 87000 1 67000
30232110 jughpuyghlt viughshbp Ul huwn 55000 1 55000
30211220 ubnquith hurdwluipghy Ul hwwn 250000 2 500000
39121410 hwiwlwpgsh ubnwh Ul hwun 40000 1 40000
39138220 hwidwlwpgsh wene Uu huin 20000 1 20000
39121520 wwhwpwb(nnudpw) Uu hwwn 20000 2 40000
31151120 hnuwGph wouwthw( ulnigdwl uwnp Ut huin 35000 2 70000
32421300 gwlgwiht pwdwbwpwnp Uu huwwn 30000 1 30000
30237100 hwiwlwpgsh dwjpwuwihy Ul huwn 30000 2 60000
30236100 hwdwlwnagsh hhawuwnp Ul hun 30000 2 60000
38520000 uljulilp Uu hun 50000 1 50000
Pwidht hunudp quu | dpwghp
1 1 1 51
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65310000 Eiijunpwbilkpghwih Jupduddwp UU npuid 3000000 1 3000000
65210000 phwlwl qug Ul npuwd 1000000 1 1000000
65100000 opwlwnwljupupdul b opuhbnuglub Uu npuwd 100000 1 100000
64210000 hlinwhinuwghb guigh swnuynipnti Uu npuyd 700000 1 700000
64100000 Yinuunwihl b unephwbnuljughl Ul nnwd 40000 1 40000
72400000 hwdwgubiguht Swnwmpnih Uu nnuwd 760000 1 760000
72000000 nbnEjunduljuh wkhtninghwtbph

dnuwgnwitht wwuwhndlwh uwwuuplnud Ul nnuwid 400000 1 400000
60171110 nupunpunphnfuwnpnn wijnnudbpkbwbbph

Jupdwlunmmpintl Ul nnwa 1000000 1 1000000

inpuugpudhengutph htn Gupfus
Soalllit uuumhggmrl{lmhmh EsumulmLmELh Uy npwd 100000 1 100000

shiwpwpwljwh dkphkliwbibph bt wwppkph
45500000 Twndwluwinueim b Ubpkludwinh hkwn Uu npwya 200000 1 200000

wuynubpiikp
9411700 plwljul gug ubnlyus Gz fud 205| 8780 1799900
34331300 wy innwwhButnwiwutn uu nnwy 900000 1 900000
34110000 wnnubpkhwtibinh dknpphipnud Gz fpwd 10000000 1 10000000
whjwinid hudwjbiph Yonuhg yuwundhpuljus ﬂlmqnpmmnﬂ.\hhp
pudhl Junudp wu | dpwghp
1 3 1 51

65310000 EEunputibpghugh updun]dwn [9)88 npul 200000 1 200000
64100000 thnuuuhlt Swpuynmipnil uu npuul 40000 1 40000
39831241 ofwn ,aGrph hlnnily Ul huin 500 5 2500
39831100 (Jwgnn Onepbn Ul 1 750 4 3000
39831240 dwppnn, Gnupbp Ul 1 800 5 4000
39831280 wwjwlph dwppbint dheng Uu huun 700 5 3500
24451160 pinpwyhp Ul Lg 400 5 2000
33761100 qniqwpwbh pnine Ul huin 150 20 3000
39522250 thnznt hwywpdwl unplbp Uy huun 600 10 6000
39831283 hwuwwyh (Jwgdwh jwp Ul hun 1500 7 10500
39811300 hnwnwaqbnéhs, onh UU huin 800| 12 9600
39812410 Yuwhniph thwjGgiwh dhong Uu hwwn 1400 10 14000
39221420 funqubwybtp Uu huwn 800 10 8000
44831100 dwéntdwilbn (duuwnhlwilp) Ul wnuh 2000 2 4000
39224331 nnu) yuundwuk Ul hun 1000 5 5000
39839200 gnquphwl dnnny Uu huin 300 4 1200




/39839100 qnquiphwl hwuwpuly Ul hun 2000 1 2000
39224341 wnpunyn, wiuuunfwuk Uu huwn 1000 2 2000
39836000-  |wik), hwuwmpuly Ul hwwn 1000 15 15000
18641000 wnihkphkhught wuply, wnph hudwp Uu hun 100 47 4700
90600000 wnpwhwingenb Ul npud 40000 1 40000
puidhl Junudp quu | dpughp
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34981100 SN i zq]u“:r} npud 2000000 1 2000000
wouuwnwtip
pudhls funwlp nuu | Spughp
4 5 1 51
45231177 Suiuyuphbph YEpwbnpnguuh wphwnwip Q{ AW 3000000 1 3000000
71220000 tuhiugdiuh wohnwwnwbiplibp G2 npuad 1000000 1 1000000
pudhl Junufp nuu | dpwghp
1 6 1 51
wohuminuiip
44161270 hulknt oph junnniwly Ul ukinp 1500) 300 450000
dwulughinuljut Juquuybpyntpiniikph Uu
98111120 Unmi/ha dnnniqinn dwinwinuenibithn puid 800000 1 800000
71220000 S, Luhiugsumb wojuunnwbiplibp 1 Q.2 it 2480000 1 2480000
71220000 Zupu. Lwhnugdduh wphounwbplikp 2 Q2 npunl 2520000 1 2520000
45221142 shtimpupuljub wohnuwbphbkp Q.2 npud 5000000 1 5000000
Awnunuwnwwbnwywh, hadbhbnwwb b .
71250000 ), hwieniwt éwnwinipiniGotn = qpud 700000| 1 700000
pwdhls funiup quu | dpughp
8 2 4 51
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dywynipwihl dhengwrenidliph Uu
79951110 Lwadwbbnwntd npwy 550000 1 550000
37520000 hwuwnniy Gupwnwyughl Gniebp uu npwy 550000 1 550000




